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f& (factorization). #il#n, ¢*—a=a(a+1)(a—1), am+bm +cm=
m(a+b+e), ¥+2x+1=(x+1)"MRERSE. ERXoE AR HMERER.

THE TS

(1) 3x(x—1)= ;
(2)m(a+b—1)= :
(3) (m+4)(m—4)= ;
(4) (y—3)*=
B4R L E R ER TR0

(1) 3¢ —3x=( ) ( 3
(2) ma+mb—m=( 3 );
(3) m*—16=( ) ( Js

(4) Y —6y+9=C ) )
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2. FHIRAEBBAAKNER, BEeRRD®? A
(1) (a+3)(a—3)=a"—9; (2)m* —4=(m+2)(m—2)

(3)d - +1=(atb)la—b)+1; (4)2mR+ 2mr=2m (R+7).
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2. FHl g AnF A TR, Tk EXH?
(1) a(x+y)=ax+ay;
(2) 10x* —5x=>5x(2x—1);
(3) Y —dy+4=(y—2)%
(4) P —16+3t=(t+4)(t—4)+3¢
3. KKK IR, + IR, + IR #94, HF R, =242, R,=364, R;=394, I=25.
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5. (1) 1999+ 1999 A4k 1999 &7 £k 2 000 FEixh?

(2) 16.9 x%+ 15.1 x% Kok 4 L7




